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Bezier curves… It has 100 anchor points, resulting in a 6 KB (6,380 

bytes) file. When compressed, the size comes down to 2 KB (2,145 bytes).
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The entire logo consists of:

10 circles (2 each for the capital G and lower case g, 2 for each O, and 2 for the e)

5 rectangles (2 for the capital G, 1 for the lower case l, 2 for the e)

1 shape made with 7 anchor points (the descender on the lower-case g)

305 byte logo
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Local control

http://demonstrations.wolfram.co

m/InterpolatingASetOfData/

http://demonstrations.wolfram.com/InterpolatingASetOfData/
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